Chapter 5 Review

. 1 Use the MRAM method {use 4 rectangles) to estimate how much water is leaked from the tank

in the first 8 hours. Give units and a sentence that explains your answer.

A tark is feaking at an ncreasinp raic a5 mdmedhvﬁm databelow. Use the table fo ansvwer the foﬁng quesﬁom
Time () ¢ 1 2 3 4.5 6 1 8

Leakepe (i) 30 50 150 240 320 410 550 650 7%

2. O 5 f(x) dx =8, then find:
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A [P +3dx B, [(fx)-6)dx
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Chapter 5 Review

L Use the MRAM method (use 4 rectangles) to estimate how much water is Jeaked from the tank

in the first 8 hours. Give units and a sentence that explains your answer.

A tank s Teakig at an fncreasing rafe asmdmaied by the data below, Use fhe table.fo a;faswerthefoﬁa%mg questions.
Tme(d 0 1 2 3 4-5 6 18
Leskege (gell) 30 50 150 240 320 410 550 650 70

2. f 3 F(x)dx = 8, thenfind:
I

_A- fls(f(x)“" 3) dx B. fls(‘f.(x)_.ﬁ) dx
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